LIST OF AUCTION OF MISC., GOODS LYING IN STATE WARE HOUSE, SUKKUR HELD ON 09-01-2024 @ CUSTOMS HOUSE, HYDERABAD

Sr#	Lot No.	Description of Goods	Quantiy
1	121/2023	Plastic Shopper	43 Bags each of 25 Kg Total 1075 Kgs
2	97/2023	Gents Cloth	04 Bora each of 24 Than Total Than 96 each of 30 Yards = 2880 Yards Total weight 480 Kgs
3	137/2023	Jali Cloth	40 Katta each of 23 Kgs Total weight 920 Kgs
4	131/2023	Plastic Shopping Bags	50 Bags = each bag 25 Kgs Total = 50 Bags = 1250 Kgs
5	197/2023	Fortune Tyres Different Brand and Size	30 Nos
6	215/2023	Plastic Empty Bags	5880 Kgs
7	143/2023	Gas Heater Small & Large Sizes	57 Nos

LIST OF AUCTION OF VEHICLES LYING IN STATE WARE HOUSE, SUKKUR HELD ON 09-01-2024 @ CUSTOMS HOUSE, HYDERABAD

S.#	LOT NO.	DESCRIPTION	QUANTITY
1	.07/2023	Daihatsu Mira Car, Bearing Reg No.BGV-746, Chassis No.LA300S-1041378, Engine No.KF- G286983, Model-2013, and Engine Capacity 650 CC.	One Unit
2	96/2023-B	Suzuki Swift (Style) Car, Bearing Reg No.AWB-504, Chassis No.ZC71S-472123, Model-2009 and Engine Capacity 1000 CC.	One Unit
3	165/2023	Daihatsu Mira Car, Bearing Reg No.BHY-982, Chassis No.LA300S-1263940, Model-2011 and Engine Capacity 600 CC.	One Unit
4	164/2023	Toyota Aqua Car, Bearing Reg No.BKE-399 (Sindh) Chassis No.NHP10-2097591, Model-2012 and Engine Capacity 1498 CC.	One Unit
5	182/2023	Daihatsu Mira Car, Bearing Reg No.AFK-765, ICT (Islamabad) Chassis No.LA350S-0071540, Model-2018 and Engine Capacity 660 CC.	One Unit
6	76/2023	Toyota Ravaj 3 Door Jeep, Bearing Reg No.BC-5351, Chassis No.6N5-FB10, Model-1998,	One Unit
7	278/2022	Toyota Crown Saloon Car, Bearing Reg No.AYR-871 (Sindh), Chassis No.GRS182- 0026958, Model-2008 and Engine Capacity 2994 CC (As per Rangers Handing Taking Over Certificate).	One Unit

8	332/2022	Toyota Lexuis (iS 250) Car, Bearing Reg No.BGS-300, Chassis No.GSE20-5051515, Engine.No.4GRFSE, Model-2007 and Engine Capacity 2500 CC	One Unit
9	Honda Civic Rebon Car, Bearing Reg No.ART-356, Chassis No.JHMFD36208S14748, Model-2009 and Engine Capacity 1797 CC.		One Unit
10	160/2021	Toyota Fielder Car, Bearing Reg No.AUX-876, Chassis No.NZE123-0009253, Model-2001, and Engine Capacity 1800 CC.	One Unit
11	16/2022	Audi Saloon Car, A 4, Bearing Registration No.AYP-331 (Sindh), Chassis No.WAUZZZ8K7DA121709, Engine No.CJE- 029776, Model 2013 and Engine Capacity 1798 CC. As per computer car servicing & check Chassis Number, showing WAUZZZ8K9DA204669.	One Unit

LIST OF VEHICLES RIPE FOR AUCTION IN RESPECT OF STATE WAREHOUSE, HYDERABAD TO BE HELD ON 09.01.2024, AT CUSTOM HOUSE, HYDERABAD.

S. #	SWH LOTs	SWH	DESCRIPTION OF VEHICLES	QUANTITY
1	54/22-23	Hyderabad	F/o NDP Vehicle Toyota Land Cruiser V8, without registration No plate, URJ202-4151973, HP-4600cc, Model-2017.	1 No
2	97/22-23	Hyderabad	F/o NDP Vehicle Toyota Land Cruiser (Cygnus), registration No plate BF-1316, chassis No.UZJ100-0127686, HP-4800cc, Model-2000.	1 No.
3	159/22-23	Hyderabad	F/o NDP vehicle Toyota Mark X car, without registration No. plate, chassis No.GRX130-6079840, HP-2500cc and Model 2013.	
4	202/22-23	Hyderabad	Honda Accord Car, Registration No.AFR-2023, chassis No.CL7- 3003373, HP-1998CC, Model-2002.	
5	167/22-23	Hyderabad	F/o NDP Vehicle Suzuki Alto Car, Reg No.BQQ, 738, having Chassis No. HA36V-108857, HP-660CC and Model 2019	
6	201/22-23	Hyderabad	F/o NDP Vehicle Suzuki Swift Car, Reg No.AWN-141, having Chassis No.ZC71S-424802, HP-1300CC and Model 2007	
7	09/22-23	Hyderabad	Honda City Car, Reg No.V-0383 chassis 1 No. No.MRHGD86504P020444, H.P-1300cc, Model-2004	
8	19/23-24	Hyderabad	F/o NDP Vehicle Daihatsu Mira Car, Reg; No.BFR-209, chassis No.LA300S-1047082, HP-660CC, Model-2012	
9	44/23-24	Hyderabad	F/o NDP Vehicle Suzuki Swift Car, Reg No.BPK-619, having Chassis No.ZC21S-105663, HP-1300CC and Model 2005	1 No

LIST OF MISCELLENOUS GOODS RIPE FOR AUCTION IN RESPECT OF STATE WAREHOUSE, HYDERABAD TO BE HELD ON 09.01.2024 AT CUSTOM HOUSE, HYDERABAD.

	HIDERADAD TO BE HELD ON 09.01.2024 AT CUSTOM HOUSE, HIDERADAD.					
S.#.	SWH LOT. #.	STATION	DESCRIPTION OF GOODS	QUANTITY		
	MISC: GOODS					
1	177/22-23	Hyderabad	F/o Tyres Old & Used of different brands and sizes	140 Nos.		
2	05/23-24	Hyderabad	Foreign origin i. Mosquito Net ii. Sofa cloth	i. 33 bundles gross weight 2310 kgs.ii. 70 Rolls weighing 1650 kgs.(15 Rolls in wet condition)		
3	205/22-23	Hyderabad	Foreign origin i. Used computer monitor size 22 inch. ii. Used computer LCD size 24 inch	 i. 02 cartons each contains 10 pieces (Total 20 pieces) ii. 05 cartons each contains 14 pieces (Total 70 pieces) iii. 28 cartons each contains 16 pieces 		
			iii. Used computer LCD size 19 inch iv. Used computer LCD size 19 inch	(Total 448 pieces). iv. 34 cartons each contains 16 pieces (Total 544 pieces)		
			IV. Osed computer LCD size 19 ilicii	Note:- 09 cartons found damaged.		
4	196/22-23 197/22-23 198/22-23	Hyderabad	F/o Tiles	i. 400 cartons, each carton contains 06 pieces total 2400 pieces (600 square meters) as per bilty. Physically 396 cartons 04 cartons are broken. ii. 432 cartons, each carton contains 06 pieces total 2596 pieces (648 square meters) as per bilty. Physically 405 cartons 02 cartons are broken. iii. 432 cartons, each carton contains 06 pieces total 2596 pieces (648 square meters) as per bilty. Physically 434 cartons 05 cartons are broken		
5	01/23-24	Hyderabad	F/o Cushion Sofa cloth	22 Rolls weighing 600 Kgs.		
6	23/23-24	Hyderabad	F/o Sofa Cloth	09 Rolls weighing 210 Kgs.		
7	29/23-24	Hyderabad	F/o polypropylene Granules Plastic Dana, (Crushed)	400 Bags each bag of 25 Kgs. Total weighing 10,000 Kgs		
8	03/23-24	Hyderabad	F/o Engine Parts TAIHO Kogyo Brand of different sizes	23 cartons containing 540 pieces (Total weighing 215 Kgs approx) in loose condition.		
9	30/23-24	Hyderabad	F/o Polypropylene granules (Plastic Dana)	235 bags, each bag of 25 kgs total gross weight 5875 kgs.		
10	32/23-34	Hyderabad	F/o Tyres (Old & used) of different sizes and brands	151 Tyres		
12	43/23-24	Hyderabad	F/o Black Tea	79 bags, total weighing 5510 kgs.		